HPJ-37GES4




8954 : HPJ-37GES4

EENo. - -
HPJ-37GES4 - -

RiiNo. BmI—R LT FREE
0100 121027A06 | TR-508VR 1
0101 | 39101B08020 |i*h+ M8X20 4
0102 | 39153B08000 |A7°UyJ" #yh 4
0103 | 3 B320730102 |t5%°#°% 22X8.5XT1.6 4
0104 | 39162B08000 |54 #°%M8 343 4
0110 | 39101B10080 |if"I M10X80 1
0111 | 3 9140B10000 |DYAJFYIMIO0 131 $343h 1
1500 | 3 E12G060016 |EH25-2BS1000 1
1501 | 39101B10045 |# kb M10X45 4
1502 | 39153B10000 |X7°Uys b 4
1503 | 39162B10000 |t34"#°2M103h" N 31 8
2100 | 3 B250552100 |V7°-J 6"B-2 1
2110 | 30120008050 |- 8X 7X 38 #¥7 1
2111 | 39101B08016 |ih+ MBX16 1
2112 | 39163F08000 |N\##°1°% M8 1
2113 | 30090008070 |#°4°% 30X9X3 1
2200 | 3 B2500H2200 |V7°-Y- 3,1/2XB2 1
2210 | 3 B2500H22101 |# 7X7X29 1
2220 | 39101B08016 |i* W+ M8X16 1
2230 | 3520200080020 |#'1°% 1
2240 | 3 B2500H22401 |$h5- 25X31 1
2300 | 3 94000RB049 |VA'L+ RB-49 2
3510 | 3 B1814H3510 |/A°y7)-12V-28A19RIA" 1
3520 | 3 B1814H3520 |MNy7U-n"-2 1
3530 | 3 B2794H3530 |A“97U-1-1 L250 1
3540 | 3 B1814H35401 |My7y-1-p 1
3550 | 3B2501H3550 |N\-%a53 1
3570 | 3 B1814H3570 |My7U-i Ik M6L250 2
3571 | 39151B06000 |FIvFyt M6 2
3580 | 3 B1814H3580 |MwFU-Iyh 1
3600 | 3 B2501H3600 |A{y#7°34yh 1

4260 3 B270404260

7" -3"D50X16MPAIN 13k

4500 | 3 G30911050045

pA{ii-X 3/8X45CM 5,5

4510 3 9375A14100

75°7°5 NO.14 3/8"

4600 3 9311A20000

AM-RIMES 3/4"

4610 3 A540101822

2Y7°) PT3/4XPF3/4

4801~ | 38320954835

MLUK-2 93 L470

4810 3 9310A10800

70U 1/4

4820 3 9300A08080

I 90° 1/4

4830 | 3 B2600048901

$ry7° *N




8954 : HPJ-37GES4

EENo. -
HPJ-37GES4 -
RiiNo. BmI—R
4840 | 30095322920 |3-M/WYr° COT12
4841 | 39106B06010 |#° Wb " #t5Y%
5100 | 3 B2501H5100 |7b-A
5110 | 3 B1813H5110 |#H" AWM L-Jik-A
5111 | 39106B08020 | hh " #t5Y$
5200 | 3 B2521H5200 |A-Z
5201 | 3 B18A0052101 |if9yy1"h KA-30-26H
5202 | 39162B08000 |t34°#°%M8 343
5203 | 39140B08000 |DYA73Yh M8 131 #3431
5204 | 39163F08000 |N\##°1°% M8
5210 | 3 B2521H5210 |A“JMI-
5211 | 39101B06040 |i* b M6X40
5212 | 3 9150B06000 |DYA77901Yh M6
5213 | 3 9162B06000 |t34°#°% M6 35"
5214 | 3 9163F06000 |N\##°1°% M6
5220 | 3 B1813H5220 [#4F A" -
5221 | 39101B06040 |i* I+ M6X40
5222 | 39150B06000 |OYAY7901Y+ M6
5223 | 39162B06000 |t34°#°% M6 35"
5224 | 3 9163F06000 |N#1°% M6
5225 | 3 B1813H5225 |3Y"I°AYAN"Y L50
5230 | 3B2521H5230 |M-78°-
5231 | 39101B06040 |i* I+ M6X40
5232 | 3 9150B06000 |DYA)7901Yh M6
5233 | 39162B06000 |t34°#°% M6 "4
5234 | 39163F06000 |N\#°h°% M6
5235 | 3B1813H5235 |3Y°1°ANO.2-11
5240 | 3 A5351014101 |JXA9r
5241 | 3 9106B06025 | Ih " %t39F 6X25
5810 | 3 B2791H5810 |¥tUy VS-200
5811 | 39162B20000 |t34°#°% M2034" 3
5812 | 39225D40040 |7ty
6110 | 3 BI1813H6110 | I 3hA AN WMYFH T
6115 | 3 B1813H6115 |75
6120 | 3 B1813H6120 |MUMM
6130 | 3 B1813H6130 | I 34B 71YF EN 34D
6140 | 3 B1813H6140 |} 347 (L160)
6141 | 39106B08016 |ihh M8X16
6150 | 3 B181206300 |7°U¥7° D46
6151 | 39101B08040 |ih+ M8X40




8954 : HPJ-37GES4

EENo. - -
HPJ-37GES4 - -

RiiNo. BmI—R LT FREE
6152 | 3 9140B08000 |OYAJHYh M8 131 #3431 2
6153 | 39162B08000 |t34°#°3M8 3" 1
6160 | 3 B1813H6160 | I 345" 7% 2
6170 | 3 B2521H6170 |#9°4A 1
6180 | 3 B1813H6180 |#¥° 1B f-AU-I 1
6181 | 39101B08040 |i* I+ M8X40 1
6182 | 39153B08000 |A7°UyJ" #yh 1
6183 | 39162B08000 |t54°#°%M8 3443 2
6190 | 3 B2501H5240 |7°yy139F L-165-SUS 1
6191 | 39130B03006 |#n° 1%y 4
6195 | 3 F900016250 |AA"Ny" I SKL32-9 1
7100 | 3 F4100A0250 |1/2 A°-}35 D2.5 1
7101 | 3 9208A15010 |#°AYYh 20X10X3 1
7150 | 3 GO1208002000 |M{#i-23 1/2X20M 80K 1
7151 | 3 9208A15014 |#*Aryb 19x14x2.5 1
7160 | 30151113500 |ZY7°) PF1/2XPT3/8 1
7200 | 3 0XA44H0000 |#-A tYh 3/4X2.7M7"I- 1
7210 | 3 0XC44H0000 |#-A ¥3 3/4X2.7M 1
7215 | 3 9209A20018 |#°AyYh 24X18.5X2 1
7220 | 3 0XA4536210 |A°-270 3/4 40431 1
7300 | 3 0XE3480000 |i-A J3 1/2X2.7M*7" ) 1
7315 | 3 9209A15012 |#°X7Yb 18.5X12.5X2 1
7500 | 3 B2837H7500 |3A°h MUY 1
7510 | 3 B3204575102 | 3" M7°LYS-3° I9b 2
7530 | 3 B0404175301 |5A°) F194 M 1
7540 | 39077T00000 |3A°N MPYA(IDY 1
7570 | 3 B320957570 |3\ FOIAS U 1
8000 3000 A7° 33y 1
8001 | 3 FOPB150612 |PCN-1/2-0612 1
8002 | 3 G01208001000 |FA{fi-A 1/2X10M 1
8003 | 3 G01208002000 |A#i-A93 1/2X20M 80K 1




